MomentumM, IMpPuLse, AND CoLLISIONS

Calculate the center of mass of a triangular chunk of aluminum of mass M, length /, and
height 4.
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MomentumM, IMpuLse, AND CoLLisIONS

Three particles are positioned at the vertices of an equilateral triangle. m; and m, lie on
the x-axis and are the same mass. The center of mass of the system is exactly in the center
of the triangle. What is m;?
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MomenTumM, IMpuLse, AND CoLLISIONS

An object with a mass of 5m, explodes at rest breaking into three pieces. One of the pieces
with a mass of m, travels in the x direction at 30.0 m/s. Another piece also with a mass of
2m, travels in the y direction at 20.0 m/s. What is the magnitude and direction of the
velocity of the last piece? What is the kinetic energy released in the explosion?
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